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Simplify each expression.

1) (42 ~7r +87°) + (4 + 87+ 61°)
4 r3+8(1«vrr’

3) (8n+5n%—4)—(5-n-3n?

B +9q -9

5) (8n° —1-4n)+ (Tn+n* +1)
943+34

7) (8x° +8x+4) - (3x* -2 -5%)
Sx>+13x +(0

9 (8x3 -2 - 7x2) - (Sx3 +4x — 3x2)
“Yx* iy -2

11) (5x® - 4x® = 5x) = (4x* - x - 7)

~UPyz-tx +73

13) (5 —4m +2m?) — 3m?* - 6 + 6m) + (6m* — 6)

(n’l z'*'I!:)WL"S—_—
14) (3n+8—n2)+(8n+5+n2)+(8n2——2n)
B 9 +13
16) (7+7r—r2)+(2—4r2+5r)—-(2——3r2)
L +12r+73

18) (3x+1+5x2) + (7 +3x* = 5x) + (4x - 8)
Bx*+72x
20) 2-3r-72) - 22 + 7+ 1) = (5 - 6+2)
-5r"-10r -
22) 32 +5+7) = (8r+4r% +5) + (8- 3)
'r?’*‘:('( -3
24) (5a° + a+5a%) ~ (3 + 4a* + 8a - 54°)
D6 +a*-Fa -3

26) (7+3x=7x%) + (x® +3x> + 8x — 1)
~YycexTrlix Lo

Name m

(7
2) (7x* =5 - 73%) - (2x* - 3x* + 2)
Sx > L’ ,(‘-1}
4) (262 - 58° — 6b) — (65> + 5% — b)
= -1b>-3b*-5b
6) (6x> +4x” +7x) + (6x° + 7x2 + 6x)
[()7(34» [Bx*+1 5K
8) (8 +2x+7x?) +(2x* — 6 — 6x)
Dx*-tx+2
10) (3v3 - 6v— 7v2) - (4v +6v: + 8v3)

SN By i~ IOV

12) (x* =3 —2x%) + (7x% — 4 + 4x°)

g-xs%fx?’-—7

15) (4x® + 6x+3) = (5x -7 - 4x?) - (3 — 4x?)
12%x“sx+77F

17) (3n—6n* +5) = (4n - 61> = 5) - (4n* + 5)
”L‘QZ.,YL +s_’
19) (4n® +2n=3)=(7+7n* + Tn) - (2 - 2n)
*?)KLL'—:%Q'\Z
21) 32 -8r+7)+(5P* +7—4r)—(7r-8)
Br*-14r +22
23) (m2 —-m’+ 2m) + (sz +4m> +5m— 1)
B e GmEaFm -
25) (27/13 + T - n) - (Sn + 6]13 —2nt + 5)

“H®+90*-qn -5

27) (8% +5-2n) +(7Tn® + 4n + 5 + 8n?)
151 >+8q 2 1O



Find the PERIVIETER of the shape.
Equation: Perimeter = Sum of all the sides

3-2x 9x — 3y + 2
4x - 8 3a-b 3a-b 2y-3x-3

12 +5x+ 7y

11+y , 3a-b
7x 3 e Qo -2 I \x +(ﬂj
3b-4a+5 - - T+3x 4z +3
6 + 2a 6+ 2a < 5)(2"'2 14z+3
3b-4a+5
~Ya +lb 122 |Ox 2o +10 oz +IZ
3> +5x+7 3ab + 43>
3x* - 4x 3x% — 4x
6x- 7 /
6x-3 232 3?2
3 +5x+7 7 - 2x 7 - 2x
. 6b% - 5ab -
2 _ 5" +7x +3
(_QK +22)CJ¢’8 ‘ CQC;L ﬁ IOZ" Zab

| [x=Sx+ 17



